asym_atll

asym_atrl

asym_atl2

asym_atr2

rund864 000 r

diff_bpmd4aY

| I B
30000 31 aE 30000 -
B — 60 i —{g0
20000 [~ 20000 [~
- —{50 . —°0
10000 - 10000 |-
B 40 i
o ] 0
= 3.|} -
- . -
= . -
10000 10000 |~
_ 20 N
20000 |— 20000 [~
B 10 B
:H}DDD_I|III|III|III|III|III|III|II D mnnn_llllllII|IIII|IIII|IIII| ﬂ
6 -4 2 ) 2 4 5 10 -5 ) 5 10
difi_bpmdaX/um diff_bpmdaYium
d. d'
= I n
- . —{70
30000 0 7o 30000
i B —60
20000 —l&o 20000 [
- [ 1
10000 - . —50 10000 = ]
oF o o oF
i L [ L
10000 |- 30 10000 [~
B N N
20000 20000 [
B 10 N m m
30000 30000 -
_I|III|III|III|III|III|III|II D _III|IIII|IIII|IIII|IIII| {'
i 4 2 ) ) 4 6 10 5 ) 5 10
difi_bpmdaX/um diff_ bpmdaYium
l ! ™ ff
= L — — 70
- —|7C n
30000 | 30000
B —&0 - —{60
20000 20000
- —50 - o|50
10000 10000 | n
of 40 o ]
B [ | H B
10000 30 10000 | -
- . F " .
20000 5 20 20000 5
30000 30000
- - 10 -
40000 | | 40000
JHEEEEEEEEE NN N e 0 SEEEEEEEE NN N 0
" 4 3 ) 3 4 6 10 5 ) 5 10
difi_bpmdaX/um diff_ bpmdaYium
l ! ™ ff
- - I
- —7 -
30000 | 30000 g0
" —60 "
20000 | 20000 eo
n —sp n |
10000 | - 1wooo |- ® '.
- a0 - -
- = -
ok ol
- = - n "
n an n ]
10000 10000 [~
20000 " 20 20000
- = -
30000 10 0000 -
i | [ | K [ |
- m -
mnnn-llllllllllllIIIIIIIlIIIlII "H}DDD- II|IIII|IIII

5 -4

-2

egressmn—masvm at vs d

b

pC

20000

10000

10000

20000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

30000

| I 1 111 I 1111 | 1 111 | 1111 | 1111 | 1111 | | ﬂ
30 20 -10 0 10 20 a0
diff_bpmdeX/um

diff

20000

10000

10000

20000

30000

11 | 111 | 111 | 111 | 111 | 1 11 | 111 | 111 | 1 11 | | D
8 -6 -4 -2 0 2 4 & 8
diff_bom4eY/um

diff_bpmdeY

L
=

| | — L
30000 | 30000 |-
20000 | 20000 |-
10000 [ 10000 [
oF of
10000 [ 10000 [
20000 | 20000 |-
30000 | 30000 |-
_IIIIIIII|||||II|IIII|IIII|IIII|I ﬂ _Illl||||III|III|III|I||||II|III|III|I D
30 20 -10 0 10 20 30 0 8 -6 -4 -2 0 2 4 & 8
diff_bpmdaX/um diff_bpmdaYium
diff diff_bpmd4eY
= - — _?.D
30000 - g 30000 - oo
20000 [ 20000 [
- . —50
- —{40 -
10000 | 10000 |
oF oF
10000 | 10000 |
20000 20000
30000 30000
40000 | 40000 |
ol e b e s ber s by aaa 1o 0 vl b b by b b s s leaa 1o 0
30 -20 -0 0 10 20 30 10 8 6 -4 -2 0 2 4 6 8
diff_bpmdaXium diff_bpmdaYium
diff diff hpméleY
| | — L
- : &
30000 —{50 30000
- - 1
20000 20000
N [ | 40 B
10000 | 10000 |
of of
10000 I 10000
20000 " 20000
- = -
30000 - 30000
[ [ N | [
B -Illl||||III|III|III|I||||II|III|III|I

10 -8 6 -4 -2

“postpan.png--

N —70
30000 [~

B —E0
20000 |~

Z —{50
10000 [~
of
10000 [

20000
E.Dnnn_llII|IIII|IIII|IIII|IIII|IIII ﬂ
30 -20 10 0 10 20 30

diff_bpmEfum
d'
30000 - _eo
20000
C —50
10000 [
of
10000 [~
20000 |-
- 10
30000 n
_IIII|IIII|IIII|IIII|IIII|IIII ﬂ
30 -20 10 0 10 20 30
difi _bpmEfum
l-
30000 —Bo
20000 |- _ep
10000 |
of
L N
10000 |
- N
20000
30000
[ I [ |
40000 u
i SN TN T T T T T N 0 A B O 0
30 -20 10 0 10 20 30
diff_bpmEfum
-
30000 —(60
20000 e
- m
10000 - ® '.I
o O
10000 [~
N [ |
20000 — ™
_ [ |
30000
- m
_IIII|IIII|IIII|IIII|IIII|IIII
400003530 0 0 10 20 an C

diff _bpmEfum



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

rund864 000 r

30000 31 aE .
20000 |-

- —50
10000 -

- 40

o ] a0

- W

B u
10000

i 20

i [ |
:H}DDD _I | 1 11 | 1 1 1 | 1 1 1 | 1 1 1 I 1 1 1 | 1 11 | 1 1 D

6 -4 -2 0 2 4 &
diff_bopm4aX/um

| — —]80
30000 |- "

n - u —70
20000 | o
10000 [ e

B [ |

of ™ 40

m
10000 |- %0
20000 | 20

n 10
30000 _

_I | 111 | 1 1 1 | 11 1 | | | I 1 1 1 | 1 11 | 1 1 D

6 -4 -2 0 2 4 &
diff_bomdaX;um
diff
40000 - -0

- n n
30000

- —60
20000

E —50
10000 F m

N 40

ﬂ;‘ -

S
10000 — u 30
20000 20
30000

n 10
40000 u u

AN RN NN NN NN N 0

& -4 -2 0 2 4 &
diff_bpmdaX/um

- [ | [ |
30000 [ -

—(60
20000

i s
10000 |

B 40

ﬂ -

.

10000 | a0
20000 | " B
30000 10

40000

I|III|III|IIIIIIIIIIlIIIlII
5 -4 -2 i

egression-reg

diff_bpmdaY

30000

20000

10000

10000

20000

30000

| 1 1 1 1 | I 1 1 1 | 11 1 1 | 1 1 1 1 | ﬂ
10 -5 0 5 10
diff_bpmda¥ium

diff_

30000

20000

10000

10000

20000

30000

|IIII|IIII|IIII|IIII| 0

-10 -5 1] 5 10
diff_bpmda¥/um

20000

10000

10000

20000

30000

30000

20000

IIIIIIIIII|IIII|IIII|IIII|IIII|I 0

|
30 20 -10 0 10 20 a0
diff_bpmdeX/um
(I
|
- —50
—4p

10000

10000

20000

30000

|
|
[
"
[
i IR A N B AN N A A A A A A A A O 0
-30 20 =10 0 10 20 30
diff_bpmdeXium

20000

10000

10000

20000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

30000

-10 -8 -6

diff_

20000

10000

10000
20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

4

2

0 2

III|III|III|III|III|III|III|III|III|I 0

4 6 B8
diff_bom4eY/um

II|III|III|III|III|III|III|III|III|I i

L
=

8 -6

_4

-2

(1] 2

4 6 8
diff_bpmdaY/um

diff _

40000

30000

20000

10000

1]

10000

20000

30000

40000

diff _

30000

20000

10000

10000

20000

30000

40000

N T T N T T N N T O T O O B 0

10 -5 0 5 10
diff_bpmda¥ium

Il BN I.l

-bp

diff _

40000

30000

20000

10000

1]

10000

20000

30000

40000

30000

20000

10000

10000

20000

30000

40000

[ [ |

: S

- —ap

~ [ |

; [ ]

- N |

:|| prrv b bv e brvr s bvr v braran by 0

-30 20 =10 1] 10 20 an
diff_bpm4eX/um

n-

| Hn
0

OLZ ot

diff _bpmde

40000

30000

20000

10000

1]

10000

20000

30000

40000

prlvv e bvva bwvra bv v bvva bvwna b b 0

LN
=

30000

20000

10000

10000

20000

30000

40000

-8

6 -4 -2 0 2 4 & 8
diff_bpmdeY/um

10
[

10

II|III|III|III|III|III|III|III|III|I i}

-8

PAaNn.pnge

6§ -4 -2 0 2

4 6 8
diff_bpmdeY/um

30000
B —{60
20000 |~
- —50
10000 |-
of
10000 [

20000
mnnn_llII|IIII|IIII|IIII|IIII|IIII ﬂ
-30 20 10 0 10 20 a0

diff_bpmEfum
difL
| —
B |
30000 : - —lao
- .
20000 _eo
10000 [
L. W
of
10000 [ W
20000 |-
- 10
30000 |- R
_IIII|IIII|IIII|IIII|IIII|IIII ﬂ
-30 20 10 0 10 20 30
difi _bpmEfum
difL
40000 - —{70
- n n
30000 - oo
20000 —
- —50
10000
0
- u
10000 [
|
20000
30000 o
40000 " =
Cov v lrrrr brrrr b v bv v v b 0
-30 20 10 0 10 20 a0
diff_bpmEfum
—&0
—50
'.I'

B
30000 .. .

[ .i

1 1 11 | | | | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 11 ﬂ
20 =10 0 10 20 K'H
diff _bpmEfum

40000,



asym_atll

asym_atrl

asym_atl2

asym_atr2

10000 —

5000

=5000 —

10000 —

¥2 /[ ndf 35.84 / 38

pO 75.02 £ 92.96

p1 —46.411 68.58

dlthpmAaL

>|

G

4 -2 0

2 4 6

diff_bpm4aX

¥2/ndf  32.36/38

p0 -70.13 £ 93.01

p1 256 + 69.2 |

of -
=5000 -—
10000 -—
_I|III|III|III|III|III|III|III
-G -4 -2 0 2 4 B

diff_bpmdaX

10000

10000 —
20000 —

30000 —

[,

+2 / ndf 30.82 / 38
p0  -344.8 + 115.9
pi ~428.6 + 86.2

|

1

-6

4 -2 0

2 4 [

diff_bpm4aX

¥/ naf

p1

pO 08097 + 111.7772

3536/ 38

101.6 £ 83.0

Ly
~5000 —
10000 —
15000 —
20000 —

EEDDD -

diff_bpmd4aY

H}DDD

5000

5000

10000

E-DEIEI

5000

10000

15000

diff_bpmdaY
|

10000 —

5000

=5000

10000

15000 N

x2 / ndf

p0

¥Z [ ndf 46.52 / 42

p0 19.8 £ 931

p1 9202+ 37.76

wof I H

M bl

F M N
~2000 | - i
4000 |
6000 [ k
: 1 1 1 | 1 1 1 1 | 1L 1 1 1 | L 1 1 1 | 1 1 1 1 | 1
10 5 0 5 10

=-5000 —

23.55 /42

-75.73 £ 93.04

-96.71 £ 37.76

10000 —

5000 -

10000 —

¥2/ndf  49.23/50
p0  7.391 + 92.308

p1 -38.62 £ 11.33

diff_bpmdeY

M

if

_30

=20 =10

10 20 30

diff_bpmdeX

H {MI r!

10

diff_bpmd4aY

-5 1]

5 10

x2indf  50.34/42
- | p0  -259.4 + 114.9
; WIHM Pl —26.98 + 47.49
| } ! ""1|||'
S NN RN NN NS RN N
=10 =5 1] 5 10

%2/ ndf

|

p1

25.73 /42

-35.63 £ 111.12

-84.75 £ 44.67

T

rund864 000 regressmn asvm at VS

diff bpm-

diff_bpmdeX

15000 | B

of
~5000
10000 :—

15000

10000 {
so00 ||

_|_l T
—|—=|='__
——

——

-
Crlvr e v bvrrr bvrrr bv v bvr s b

%2/ ndf 651.58 /50
p0 -20.22 +91.93
o1 52.3 + 11.0 }
N
°f H +++ MM
~5000 [
10000 |-
1EDDD-_|I||||||||||||||||||||||||I|||||||
30 20 -10 0 20 30

%2 / ndf 58.15/ 50
pO -303.7 £ 115.0
p1 -76.55 £ 13.99

a W

=30

=20 =10

10 20 30

diff_bpmdeX

¥Z / ndf

pU
p1

24.57 /50

—/5.5+x1103

0
5000 f—
10000 f—
15000 f—

20000 F

o
WWWWW

t postpan.png

¥*/ndf  50.35/42
p0 33.2 + 93.1
p1 122.1+ 47.2 '
i "
I (e
I |
—EI}DU_— { }
1HDDU;||||||||||||||||||||||||||||||||||_||||
=10 =B =6 =4 =2 i 2 4 G 2]
diff
ool ¥2 / ndf 36.68 / 42
co00 - p0 —53.59 £ 92 .81
i } p1 -133.2+ 47.4
h
| . I [
of Ml *MH
-+ - _
=5000
10000 —
15000 —
ENFETE FETE FEEE F RN AR AN AN AN AR AN
=10 -8B & -4 <=z i 2 4 G A
%2 / ndf 3894;"42
p0 -288.5 £ 115.7
pl 24.43 + 59.58 M
¥ *HHWM%% M
wf Y I
H}DUU:— |
1EDDU:F|_|||||||||||||||||||||||||||||||||||||
=10 -B & -4 =z i 2 4 [ ]
e 2indf  48.09/42
10000 = pO —B65.7 £ 110.8
so00 H{ _157.7 +55.8
=5000 ]
10000 —
15000 [ ]
v bvorboon bovabvo e bvva bvaa b boa by

0

2

4 6 8

diff _bpmE

¥2 | ndf 37.9/44
p0 2216 + 93.35
p1 2963 + 14.67 V |
|y Trm——"
~5000 ;— | } {
10000 E— *
15000 i—
Eﬂnnnjl_lllIIIIII|IIII|IIII|IIII|I_III|
=30 =20 =10 ] 10 20 30
10000 |- } %2 / ndf 44.66 / 44
| p0 ~48.29 + 93.23
5000 — {
- HM{“ i p | T-:a?.m J_: 14.76
oF } Hiwsrger A
=5000 { + ]l
10000 N | )
15000 [
I EE T AT N N e
=30 20 =10 1] 10 20 a0

diff bpmE

%2 / ndf 40.85 /44
p0 -276.7 + 115.7
p1 7415 +£18.150 1
-.'J'UUU__ L
oF }Jw " ++ +++ n '
soo0 | |
mnnnf— | }
15nnnf— {
E.Dﬂﬂni-lllI|IIII|IIII|IIII|IIII|IIII|
=30 =20 =10 1] 10 20 a0
%2/ ndf 37.23 /7 44
15000 -
C p0 -36.39 + 111.32
10000 —
p1 -47.82 + 17.81
Loo0 — ‘|
o ’ (ﬂ MMA
_soo0 |- |
10000
15000 |
|||||||||||||||||||||||||||-|||
30 -2 =10 0 10 20 a0




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

diff_bpmdaX

¥2 / ndf 35.9/38
pO 74.21+92.90
p1 14.89 + 68.56

5000 — {

10000 —

I AN I A A I A
-6 -4 -2 0 2 4 6

diff_bpm4aX

x2 / ndf 32.89/ 38

p0 -67.15 £ 92.93

- LWWM}

|

=5000 —

10000 —

-6 -4 -2 0 2 4 [

diff_bpm4aX

x2 / ndf 30.59/ 38

p0 -346.5 £ 115.8 w

WLE/E
p1 27.27 +86.06 [+ 1 ﬂh« -
R |

10000 }

15000
20000
25000

30000

L0411 T N T T A O O A A Y
-G - -2 1] 2 4 [

diff_bpmd4aX

15000 2 | ndf 35.54 /38

10000 - ' pO —0.7146 + 111.6256

2000 3 p1 -13.28 + B2.85

s G

5000

10000 |
15000

20000 |

25000

rund864 000 regr"‘ y

essmn - reg

dlthpmAaL

E

_bpmdeX

diff_bpmdeY

¥2 / ndf 50.03/ 42

pO 32.86 £ 93.06

p1 476914716

=5000 — }

22 | ndf 46.1 { 42 : %2 | ndf 49.05/ 50
pO 18.55 + 93.08 ¥ + PO 9.843 + 92.298
p1 4518 + 37.715 con0 |- p1 -10.38 + 11.32
:mnnf— f - H E | | } “HM I
2000 F } ' o %WW’W '

L Ry ik it
o - I N
- f 1 | | -5000 — {
-2000 - _ -
~4000 | I i { i
" 10000 —
-6000 |- } - {
-III|IIII|IIII|IIII|IIII|I IIIIII|IIII|IIII|IIII|IIII|IIII|II
=10 =5 1] 5 10 =30 =20 =10 1] 10 20 an
diff_bpm4ayY diff_bpmdeX
10000 |- %2 / ndf 23.15/ 42 15000 ¥2 / ndt §1.72 /50
i p0 ~-68.28 + 92.86 - po -19.12 + 91.91
: B 10000 —
5000 = p1 -12.86 + 37.65 [ pl  —0.04955 + 11.02063
- * | 5000 :— (“ I
I - +
o t [ fyn 1“
B ] J { i‘ } M 'D: |‘ H\J 1ty ++
I 5000 |-
~5000 _ | -
I 10000 [~ -
1.DDDD_III|II_II|IIII|IIII|IIII|I :IIIIII|IIII|IIII|IIII|IIII|IIII|II
=10 -5 (1] 5 10 ~30 20 =10 (1] 10 20 a0
diff_ hpmélaY diff bpmdeX
v2indt  50.74/42 2 / ndf 58.49 / 50
B000
i + p0 -276.4 + 114.6 p0 ~-309.2 + 114.9
ol { 1 l h% pi ~20.65 + 47.33 p1 3.974 + 13.978
- 1] M M | N
i f } IH ‘ 5000 - 1
~5000 [~ . 0T ] {
- : M # |
[ i o \J *
10000 |- L + 1 H
: =5000 — }
15000 :— ) 10000 |-
:||||_||||||||||||||||||||| E|||||||||||||||||||||||||||||||__|||
=10 -5 1] 5 10 -30 20 =10 1] 10 20 a0
diff iff
ff bpmdaY diff _bpmdeX
10000 [ - 2 | ndf 296 [ 42 : ¥2 | ndf 54.85 / 50
- 10000
B ‘ ‘ p0 ~35.5+ 111.0 - p0  -80.93 + 110.23
5000 [~ -
R | Pl -3.117 + 44.565 e | ! p1 ~10.66 + 13.41
of- }H ; J’HH'H nul ok _%wqﬂgﬂﬁu qmmwﬂ ||
i } * { ) : } hal Bl
5000 — } -5000 i f |
B 1 10000
10000 — -
R 15000 |
15000 :— _
i - 20000 |

at vs diff ‘bpm-fit ‘postpan.

. |_| “Wﬁmﬁ

10000 = -

Lo b bvn b b bvwn b bona B P
-0 -8 -6 -4 =2 0 2 4 6 8

diff_bpmdeY

10000 |- %2/ ndf 37.66 /42
- p0 -48.12 + 92.67
ErI}DD_—
- k } p1 -8.975 + 47.366
i }
of _]lﬁ g
[ } } 1
-5[:00:— 4
H}DDD:— -
150[]0:—
'|III|III|III|III|III|III|III|III|III|II

-10 -8 -6 -4 -2 0 2 4 6 8

diff_bpm4eY

%2 / ndf 3917 /42
10000 —
[ p0 -302.6 £ 115.4
5000 |- p1 -12.76 + 59.39
. i
i

-mnn:— ) “ )
1'|}|:IUU:— |
1EDDU:F|_|||||||||||||||||||||||||||||||||||||

-10 -8 -6 -4 -2 0 2 4 6 8

diff_bpmdeY

%2/ ndf 47.29/ 42

10000 | - p0 6577 £ 110.75

s{:nnf— | { p1 -14.25 + 55.78
| IH* W HW
- - 1
: 11

-5000 |-

10000 [

15|:mr.1:— -

-10 -8 -6 -4 -2 0 2 4 6 8

| 0) 0 b

diff _bpmE

%2 / ndf 37.72/ 44
pO 19.82 + 93.31
p1 6.805 + 14.664 |
of Wﬁ%ww%w
-5nnnf— ‘ }
mnnnf—
15nnnf—
Eﬂmn;_....|....|....|....|....|.'...|
=30 =20 =10 0 10 20 30

diff _bpmE

%2 / ndf 44.53 / 44

p0 -39.34 +93.12
p1 19.62 + 14.73 | } }
o |H""-'-'fh1+
soo0 | M ; i
mnnn:— } ]
15nnr_1:—
:IIIIIIIIIIlIIII|IIII|IIII|IIII|
30 -20 10 0 10 20 30
2/ ndf 4:3 36/ 44
p0 -296.5 + 115.3
p1 4732 £ 18.113
5000 = { | -
D:_ --WH”lI“rﬂ'h{- 1 1
L T Al WH |
~5000 [ { LH
10000 |
15000 |
Hoovo by e bovv s by a by v g |
30 -20 10 0 10 20 30
2 | ndf EE 72/ 44
p0 -36.87 £ 111.19
p1 3.538 £ 17.777 } }
] W) [ J
oF H{ }ﬂ |
5000 | }
10000
15000 [~
:llllIIIIIIlIIII|IIII|IIII|II-II|
30 20  -10 0 10 20 30



asym_atll

asym_atrl

asym_atl2

asym_atr2

rund864 000 r

jij[flf:___
30000 —

20000 —

10000 —

10000

20000 |-

30000

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bopm4aX/um

30000

20000

10000

10000

20000

30000

40000

diff_bpmdax/um

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpmdaX/um

||||||||||||
40000 L g

egressi

on—a

iff bpmdaY

30000
20000 —

10000 —

10000

20000

30000 |- |

10 -5 0 5 10
diff_bpmda¥ium

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-10 -5 1] 5 10
diff_bpmda¥/um

30000

20000

10000

10000

20000

30000

40000

10 -5 0 5 10
diff_bpmda¥ium

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIII|IIII|IIII|IIII|IIII|IIII

WDDD 1 1 1 |

vm at vs diff b

jij[flf:___
30000 —

20000 —

10000 —

10000

20000

30000

_I I 1 111 I 1111 | 1 111 | 1111 | 1111 | 1111 | |
30 20 -10 0 10 20 a0
diff_bpmdeX/um

30000

20000

AT e e T
R T AL R S PN
o SR S e
ERE N PRI E e, gy H .
SRR

10000

10000

20000

30000

i IR A N B AN N A A A A A A A A O
-30 20 =10 0 10 20 30
diff_bpmdeXium

30000

20000

10000

10000

20000

30000

40000

prlvr b trvra ber v braran by
20 =10 1] 10 20 an
diff_bpm4eX/um

8

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

‘H}DDDI IIIIIIIII|IIII|IIII|IIII|IIII|I

m-séat po

tp

30000

20000 —

10000 [—

10000 [

20000

30000 —

-10 -8 -6

P
E

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

4 -2 0 2 4 & 8
diff_bom4eY/um

L
=[

8 -6

30000

20000

10000

10000

20000

30000

40000

-4 2 0 2 4 6 8
diff_bpmdaY/um

-10 -8 -6

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

4 -2 0 2 4 & 8
diff_bpmdeY/um

‘H}DDDIII|III|III|III|III|III|III|III|III|I

10 -8 -6

AdAll.PpNY

-4 -2 0 2 4 6 8
diff_bpmdeY/um

30000

20000

10000

10000

20000

30000
=30

diff_bpmEfum

30000

20000

10000

10000

20000

30000

|

g
R
==
I

"y
==
=
—h
==
S
g

difi _bpmEfum

30000

20000

10000

10000

20000

30000

40000

-30 -20 =10 0 10 20 a0
diff_bpmEfum

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIII|IIII|IIII|IIII|IIII|IIII

40000
diff _bpmEfum



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

rund864 000 r

30000

20000

10000

10000

20000

30000

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bopm4aX/um

40000

30000

20000

10000

10000

20000

30000

40000

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpmdax/um

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpmdaX/um

||||||||||||
40000 L g

egressi

on-re

iff bpmdaY

30000
20000 —

10000 —

10000

20000

30000 |- |

10 -5 0 5 10
diff_bpmda¥ium

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-10 -5 1] 5 10
diff_bpmda¥/um

40000

30000

20000

10000

10000

20000

30000

40000

==
IIIIIIIIIIIIIIIIIIIIII|IIII|IIII|IIII|IIII|I

10 -5 0 5 10
diff_bpmda¥ium

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

~at vs diff-b

m-scat pos

jij[flf:___
30000 —

20000 —

10000 —

10000

20000

30000

30 20 -10 0 10 20 a0
diff_bpmdeX/um

30000

20000

10000

10000

20000

30000

=30 =20 =10 1] 10 20 30

diff_bpmdaX/um
jij[flf:___

40000
30000
20000

10000

10000
20000
30000

40000

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=30 =20 =10 1] 10 20 a0

diff_bpmdeX/um
ifL

30000
20000

10000

10000
20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

] 1111 I 11 11 | 1 111 | 111 1 | 1111 | 1111 | ]
40000 TR 36
L L

all.png

30000

20000 —

10000 [—

10000 [

20000

mnnn_llllIII|III|III|III|III|III|III|III|I

10 -8 -6 -4 -2 O 2 4 & B8
diff_bom4eY/um

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

L
=[

-8 -6 -4 2 0 2 4 6 8
diff_bpmdaY/um

40000

30000

20000

10000

10000

20000

30000

40000

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

LN
=[

8 -6 -4 -2 0 2 4 6 B8
diff_bpmdeY/um

30000
20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

‘H}DDDIII|III|III|III|III|III|III|III|III|I

-0 -8 -6 -4 -2 0 2 4 6 8
diff_bpmdeY/um

30000

20000

10000

10000

20000

30000

-30

30000

20000

10000

10000

20000

30000

diff_bpmEfum

2

40000

30000

20000

10000

10000

20000

30000

40000

==
IIIIIIIIIIIIIIIIIIIIII|IIII|IIII|IIII|IIII|I

difi _bpmEfum

2

30000

20000

10000

10000

20000

30000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpmEfum

40000,

diff _bpmEfum



